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BUTEX Admission Test 2014-2015

01. AN SFAITS TN 69 @MibT 9w 20o «ig 717
(a) 0.01 (b) 0.1 (c) 0.4 (d) 0.6
TTAE: (d); 0 @AM —1 @ 2
02. s =upt+-at? O CF s I t ETIBT e TaeT e 5 2172
(a) SfkgE (b) *RIG (c) 5°T (d) TSI RS
AAHE: (b);s-—ry,t—drx=>y=ax+bxz,mmﬁﬁﬁﬁl
03. JHITEH YA SRR T TR @F S @HG?
(@h (b) h/A (c) h/n (d) h/2x
SIH: (d), L= 2= ; P et n = 1
04. AT RS @I 45° GIINA THIET O SR @ Torg Tolerei SIeirs-
(a) 1:1 (b) 1:2 (©) 1:3 (d) 1:4/2
A (a);tan5=§ =>%=tan45°=1=>H:V=1:1
05. 40 BEF TASTRI TS T97?
(a) O hr. (b) 24 hrs. (c) 12 hrs. (d) 365 days
Y (b); ©i¥F Toatzs sl |
06. 100m &Y qo® @ 45kmh~! @C1 56 1km ¢ @3 s Slowy ) FEb Sfowy F909 GIBT T 397

it ?
(a) 10s (b) 20s (c) 40s (d) 88s
ATY; (d); s = (1000 + 100)m = 1100m ; v = 45kmh™! = :—ims‘l st = % = E:: = 88sec
07. A o= FTEFT SLATS TS A OIS @7 072 [Ans: c]
(a) 2:4:8 (b) 4:6:8 (c) 4:5:6 (d) 5:6:4
08. b wFE I T T3 ©F-
(a) e&n (b) < (c) iTg (d) STt

IIYI: (d); AT = constant; 9 A @7 &7 3¢ 789 I
09. EERFed Tou 3fs Broaiz® (ArF Wb T GFEl A | ST A4l STopHt I @IS 147 Fore =

FACQ O SrOrEIREie (TR 7
(a) FaEfE @ om  (b) QI CATF AN (c) @A o=t (d) 16 77

TR (a) ;J; (2 G R TSR ST TS UFE, ©IR 932 Ag Nfedry T |

10. I ~(GT &9 Sfoeri@ =y h 2, ORE-
(a) hect? (b) hect () hec= (d) hec %

TG (a); h =~ gt? = hoct?

B, (o [




BUTEX SRS ( @? )

1. 1 09 YT 16 &Y 99 EE-
(a) TS (b) TTTa AT (c) LT ATFIRSS (d) 3TEea STt
W:(b);l=@:m===lmfi

12, &M 9 == e
(a) Sfeersa, ofer 59 (b) s, @ (C) (aIT 3=, St (d) oI, 1%
AN (d); SfeR CFa, (@51, I (ogd ¥

13. M o9 936 IE9 e B g7 saet -
(a) VZME (b) 2ME (c) E (d) =

YA (a); E=% = P = VZME
14, 90 PR G 2em FIIHEHT 0o Ferfa f[eq ifF =1 U1 3 R 10em s 9 =0 o Pek a3 fee
& I-

(a) U/25 (b) U/5 (c) 5U (d) 25U

2
W:(d);u=-;-kxz=>%%=—z- =F2=12i= = U, = 25U.

1 X1

15. 153 SM@y 5ol TSI =R @5-
(a) 3= (b) T *ii3 (c) a2 AP (d) EFI=BE =

AN () ME AT @ v = |

P

16. 399 (IFTAIS T (0 9G9 FTAR ACATT QAT A1 Fe-

(a) FFTA (b) 3@ (c) Toiga (d) =fige

IAAHE: (2); a = —0’x = y = mx T AFEaE ANFAT |
17. 930 BT 0T *=19 2 AN T T FIheA-

(a) o (b) I SEAA qA (C) A AGA (d) 3y &R

TR (C); IR I SR AGICETE FRCAR B CFIOT TR 2l ZF; SHIA it ot oot i e 731
18. {#Io (RIMIbH Ty AICHLH @=?

(a) =jf%at (b) T4 (c) SI% (d) FafkEs
FAYH: (d); Black hole AR *MiY &A% IR, ©IF €7 TG JIBW @R G2 T @F TS = GF ITATT 2
G4 S TS T

19. b BIfeTS AIYS 374 MY BT 2RIRS 20S AE T&H 7 Oe- [Ans: b]
(a) BT ST ZF (b) RS TRz (C) YIFg AT T (d) TS =i T =7

20. @ A 2@ fSned w4t 30 By wited «fawe 3-
(a) 4 @l (b) 6 @et (c) 9 et (d) 2 @t

AGYE: (c); H=I°Rt;1 -» 3 @I A H 9 @ I |

21. (I G930 (ST M 94 10 e | F© fi @ =wieds 75% Faaie =@?
(a) 20 fa= (b) 30 A9 (c) 40 49 (d) 50 fa=
A (a); 75% T3 W G2AF SCEF 2671 - 10 x 2 = 20 days =«

22. (I *THY Cigel 2Nl ClFerd Foud Fe OIge! E1rSe 20dB I?

(a) 10 & (b) 2 @ (c) 200 @ (d) 100 et
STigi: (d); 20 = 10 mgﬁ£ = ﬂﬁ- = 100.

i o



TR ¢ [

23, (I SACAF Yo v W waqﬁr N7 97

24,

23.

26.

27.

28.

29.

30.

31.

32.

33.

o EX RN,

A A
@3 () CF (d)2
TN (A); 6 =Tx2= =Dy ox=2
A g

ERINIE (b):%= 67 cl’c?c“—zzzlﬁ?:l SIH AAAF NI & |

GEHERIR SRS - [Ans: a]
(a) GRLFAE (b) BrefErSa (c) STfHemE (d) &%

BT Wl 8 IR AR SIS F6?

(a) MLT2 (b) L (c) ML2T~2 (d) ML™1

(o) =

SO LS (TP 95 2m E O3 6] T 7

(a) +2D (b) —2D (c) +0.5D (d) —0.5D

TAY: (d); P =< === —.5D

A iy fTeZ7? [Ans: €]
(a) di¥ (b) 4I¥< (C) ©ItAI® (d) ST

m kg =9 @32 Q Coul 5% 2 @I yrgs oret <6t By e V volt T3 ity viffe =31 J aste @3
"No=ife 2reTi-

(a) QV (b) mQV (c) mQ/V (d) ov

TNYI: (a); fexifE = Foam= W = VQ

57 Ao cirERE 54! AW A7

(a) Gfes e (b) 9F-T (c) TS 1% ©q% (d) S_EEITS Ak

STRIYI: (C); *Rroas Swd) ST — ATF CAETRAIRS T4 T Al

200 m! NaOH T3t 9 2Mifits are 200ml 0.1M e OfFS B¢ /e 2 NaOH T4t @3re® NaOH @

“faaed T 7 |
(a) 0.4 (b) 0.8 (c) 1.6g (d) 3.2g

AN (c);% X 1X2 =Ex 1= W = 1.6gm

e e wan Fare O (WIF SIFTE ATHEE LI?

(a) 1 (b) 2 (c) 3 (d) 4
SigIE: (b); CH, + 20, — CO, + 2H,0

120 = X+ _Ye, X GIEI0-

(a) 5N (b) '3F (c) 1oNe (d) *aC
Ty (b); 120 —» BF+ _Je

TS =Y LS SNy oy

By P i
Lh
[

P g
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34.

35.

36.

37.

38.

39.

40.

41.

42.

45.

46.

47.

CePTIRA W4T FAGR I3y VA RGP 167 52p©7
(a) Fluorine (b) Sulphur (¢) Oxygen (d) Neon
JNIYA: (d); Ne(10) = 1s? 2s5%2p®

'W' AIE SSRTFH BAR OIS SHT{@ (ST W4T FRCGICET SIem] I Faw 9 &FS 41 2 | "W gl

(a) Pt (b) Fe (c) Ti (d) Ni
CTETLATITSY (TN 40 5 Ry ?

(a) CoIoIBIR® IF (b) a-ARTFFIET 7 (c) p-ARCPHRCF 7 (d) H-<7w
fTea i FETrFRE?

(a) PH, (b) NH, (c) BF; (d) NCl,

FAHIN: (C); PH3, NHj, NCl; TS I& e~ Hity, “%19d BF, 99 (F31
CITF-Sla! “BIerS 2id 77 & ?

(a) K,Cr,0, (b) NaOH (c) Na,$S,0; (d) KMnO,
AlCl; BT+ [RR 511 $40e1 O i Al Sifdee 1?

(a) 0.33F (b) 1F (c) 3F (d) 6F
A (€);Q=neF=Q=1x3F=3F

Ao o il 529 wfSe T2

(a) BF, (b) AICI, (c) BaCl, (d) BeCl,
At @A qEfmE?

(a) PVC (b) Teflon (c) UPVC (d) Starch
25°C Sty A1+ SEfas eoiws 397

(a) 107 12M? (b) 10~15M? (c) 10711 M? (d) None

Y (d); Ans. 2 10714M2,
RPN PRSI FLAA @I N &0 §FS IAFB FeAT (G TeeTw 70415 239

(a) 2¢ (b) 2¢+1 (c)2¢ -1 (d) 2¢ -2
A (b); m =21 + 1.

@A 7= gfast @e?

(a) Zn (b) La c)Cu (d) Ca

AYA: (b); 4= 9SS Glter =@ Lanthanoids Gite |
CsCl A (T SIGIAA @R SRR APACET T#ATS-

(a) 0.525 (b) 0.630 (c) 0.923 (d) 0.811
e e\ Fe __ 167
SRR (o); 2 = 257 = 0,923
247 &1 [Afram @t gawa Jfe oo @HB?
(a) time™ (b) mole. time (c) mole. time™1 (d) mole. time. L1

TANA: (3); At =In= = A 97 9FF time™?
froma Qe @rite Oy fageigfen?
(a) CH, (b) H;0 (c) BF; (d) ccl,

SIYT: (c); CH, — 5QETRY, H,0 - Vshaped, CCl, — 5@ |

[Ans: d]

[Ans: c]

[Ans: a]

[Ans: c]

[Ans: d]
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48.

49,

50.

51.

52.

93.

95.

ob.

57.

58.*

59,

60.

C3Hg O WINIRS AAFS XS T AAFF Anaqt qray?
(a) 4 (b) 3 (c) 2

0

o comiern IPTITRR T DT B +2 7R ?
(a) B-ray (b) y-ray (C) a-ray
FANIA: (C); o —ray — 3He?t

CH3CONH,(S) + 4[H] =522 - A; A Gisif5?

P MiTet sivmie R Rl s @7
(a) AFNSF SN (b) FF= (c) gAreid

SAYT: (C); BT Ca0 =Tst, 1 FAMAIRE It ST |
IR WIRe Wiy [ResfEs 2 @i Sesig a2

(a) T afsre (b) RIS QR (c) frirure
ST (b); CHs — CN — CH; — COOH + NHL,

Ag OF SR TARTME TIE 9 T F©?

(a) 0.0000104 (b) 0.000329 (c) 0.000287

AYA: (d); AgT +e” - Ag; W ="Zit=ZQ
= 108 x 1073 =Z x 96500=Z = 0.0000011 IEkgC‘1 = U.{]DlllﬁgC‘l
LT (SO I | MAGE [AGR C G SRR

(a) e LY (b) TZFT-Y (C) TIZTH-5
ftoa (A (@19 fafear T 237

(a) Salicylic acid (b) Picric acid (c) Thalic acid
HNO, @ LiOH @9 [Rieaa epiee oo 7

(a) —55.2 kj (b) —57.24 kij (C) —59.30 Kij

SAY: (a); LiOH 7&eT 19 q0e1 Uad 57.3k] 99 (6T T ©OF T 27|
&fs ©4aore &+ pH ifsa 997

(a)5—6 (b)3—9 (c)3—4
AL el saeEt $a?

(a) TECREfAe wfie  (b) Tfew afe (c) T uftie
it w6t SErerRs Wy (I o1

(a) —NH, (b) —OH (c) —COOH

Ol T B GifHe 2 Ba & ety Ie?

(a) EEEfeRRe (b) @&EfT Wffre (c) (e

(d) None

(d) X-ray

(d) CH;CH,NH,

(d) et S

(d) frifas uffe

(d) 0.001118

(d) =62 71

(d) Benzoic acid

(d) —68.60k]

:
)
4
g

[Ans: d]

[Ans: a]

[Ans: a]

[Ans: b]

[Ans: a]

[Ans: c]

[Ans: b]




61. x%+y?+2x+3y+11 =092 x? +y? + 4x + 3y + 12 = 0 I8 7207 AT TF @F 7ad Food =162

1

(@) x=—2 (b) 2x+y =0 )y =x

TN (a); S; — S, = —2x-1=u=”_—._§
62. sinA + cosA = sinB + cosB (e, 59 (@i Jf3F?

() A—B =7 (b)A+B =2 (c)A+B=1
HAYIA: (C); sinA + cosA = sinB + cosB = sinA — SinB = cosB — cosA
AYB  A-B _ 5 AYB L A-B AtB _ AtB _ =
ﬁZcusTmn—z——Zsm 5 Sin—— = tan— =1= ” —4=:>A+B

63. x*—2x+ 5 OF [PIOT AR-
(a) (b) 2 (c)3

(d) x = —2y

L
2

(d)A—B =

(d)4

THE: (d); f(x) = x2 — 2x+ 5= f'(x) = 2x — 2; (%) = 2 > 0 = o4 7 I |

S2X—=2=0=2x=1=f1)=4
64. 2x+y =3 @IF oA, N0 &R FITFAR BT T 74?
(a) 2x+y =5 (b) x4+ 2y =9 (c)x ==+3

2

FAY: (b); 2x +y = 3 QAT = —= -

—2;Xx+2y =9990E = — -

2

65. lim G—x) tanx 97 AAZ I F©7?
=7

(a) 1 (b) = (c)

(d) x = _?Y—B

(d) =

AAYIA: (a); x =-E-+h = lim (E—:-::) tanx = Linl(—h)(—cnth) = Elim—lf- =1

x—nf2

66. (- x)m a9 fagfere x aie “v-
(a) 12th (b) 13*h (c) 14t

-0 tanh

(d) 15"

A (b); topg = 8¢, X 3627 x7(~1)F > 3r—36=0=r =12 =~ 12 + 1 = 13th *I x &S|

67. f(x) = tanx TH f(x) 9T CGITIT FA0G?
(3) R () R—{=2nez} (o) [0,]
A (b); R—{(2n+1)Z;n € Z

68. TYEW HAJ -
(a) -2 (b) 8VE (c) V3

3

TYA: (a & b); — = T ; 8V = 8 X 2 = 16 W
69. 63 @AM EW AN ?
(a) Y19 (b) V87 (c) V78
TN (d); /81 = 3.
70. +/55in0 = V3 932 v/5co0s0 = 1 T 0 9T ¥ F7?
(a) 60° (b) 45° (c) 30°

ATYI; (AT TEg 3); sind = giﬁ cos@ = %T{c@ *It3 =T; - sin?0 + cos20 = §+§= : + 1.

(d) (=00, )

(d) =

(d) V81

(d) 0°




BUTEX S | ®

71, GFEH O TR TS Y TICSICH WA ©F I o #i10g [oide g s 500m VTA CRRITAT | TS ¢I7f U
Q2L FTSIFA (@ 2U ZLE TR o IS7

(a) 1 km (b) 2km (c) 3 km (d) 4 km
€0.5km =

Wi(ﬂ):T 1w \ s=vt= [].5=u><t=:t=El'j-5==rd=2ut=2u><nTS=1km.
1

72. g "P, = 6 "P; T, O n 93 WIH-
(a) =3 (b) 3 (c) 9 (d) =9
HAYR: (€); n IR EAGS GIR 4 SToH 991

73. ['—=dx =7

“0 Ja?-xt?
(a) n/3 (b) n (c) /2 (d) n/6
HIEE: (C); f:ﬁ:i_ﬁ = |sin~? E]: =sin"11-sin"10 =E = %

74. =S R WERe o ovm afFe 753 12 o1H oftd 7414 T h @ h' IR =2
(a) s VhR’ (b) 4Vhi' () = (d) 2h2h’
T (b): R = uzslgnzu:ﬁ _w sinzgﬂ%-u] H = 521:%; b= s;l:zu
< hh =2 slni:zcﬂszu _ 115 {(zsinu;nsujul']z _ 1is RZR = 4vETT

75. Matrix [‘; i] a3 7T-

(2) &&= (b) Transpose (c) TS (d) Scalar

FAIYE: (2); & Matrix @7 Fam @32 714 inter-change F9TeT Matrix S1#f5<fSw® it | ©ite &ifSsrs Matrix I
76. p?x? + 2px + qy + p2y? = 0 FAaen @ [ ot $a?

(a) eFTEEI FFE @A (b) 3@ (G REIF N (d) &g

FAYA: (b); TR x2 € y2 G494 7{%5t same @32 xy RFHE @F M @2
77. = @3 W€D F97

2-3]
(a) 2 (b) 2 (©) F (d) =
W;(ﬂ;%:‘5"2:_29*’31]:%3(10+15i—2i+3)=1+i—iarg=tan‘1%=5

78. WEib 2F GF 0 FUFA 91 2, TOH gaildl 9R A ANSTF BRI 67
(a) = (b) Z )5 (d)
TAA: (b); P = °Cox ¢ X2 =<; GBI @RI T, 9L [ WL T 11 (3, TR @512 GTe F@ U2 Ol
AR -

79.  aF fare ferarier 1216 e 9%e7 @ THew Ffw T 8 @ 2 (3ftt 9T | JUN TR NHRE (@I 60° ©2F wf
T T?
(a) 5kg —wt (b) 7 kg — wt (c) 3 kg — wt (d) 9 kg — wt

"TﬂT‘ﬂﬂ':(b);P+Q=B;P-—Q=2=>P=5,Q=3

R= P24 Q2 + 2PQcosa = V52 + 3% + 2.5.3c0360° = 7kg — wt

TR | s




oo S W

80. [ Inxdx 9% -
(a) 1 (b) e (c)e—1 (d)1-—e
TN (a); [, Inxdx = [xInx—x]f =el—e~0+1=1

81. 3x?+ 5y? = 15 TIgrad THfass| TI-

@ ®) 2 © |3 @ 2
3=f“‘ﬂ‘ﬂ“:(tﬁ);E=JiT:—:=\[1——%:\E[-.-ascz+5_~,r2=15=:=r5;-+-";—"'=1]

82. y=xXInxTAy; 9G9I IF FS?
X 3 2 1
(a) 2 (b) = (€) 5 (d) o
Y (C); y = x*Inx =y, = 2xInx + xz.l = 2xInx + x

2—21 24 2lnx+1 = 2Inx + 3; y3—2 —I-U'—-

83. ‘aﬁp+q p— q’iﬂ_ﬁptﬂmqrﬁﬂﬂﬂﬁﬂmﬂ@mmﬁ?
(a) 0° (b) 90° (c) 120° (d) 180°
TN (b); P+4=P—-9=@F+ ). F+9 = F-9.F - D=p*+2p.q + q°
=p*—2p.d+¢*=4p.=0=>p.q=0=>plg

84.* W= WM 2015 7 fafirs -
(@) 11111011110 (b) 01111011111 (c) 11110111110 (d) 01111101111
AIYE: (A TeT F3) -~ (2015),, = (11111011111)

2|2015
21007 -1
2|503~-1
2p51-1
2[125-1
2162—1
2[31-0
2[15-1
2|7-1
2

LIS
I
P—)

1
85. S={x€R:2x*—7x+ 3 < 0}, T &S TEAT (Sups) F7?
(a) 3 (b) > (c) 0 (d) 1
TAYA: (a); 2x* —7x+3<0 = (x—3)(2x—1)<0 =>-:—:=‘_-!:-:£ 3 = FD TEAN 3
86. f(x) = X%, ~1(x) 47 TF-

( ) 2=3x% ( )3x+z (G) Ax -2 5 Ix—2

2x-3 3-2x Z2x+3 ( )21-3
R e _ _ : -
I (0); £0) =Y = 35 = 3 -2 =24 3x 5 x(3 4 2y) =3y~ 2= f1(y) = 22 o -1 (x) = 2

87. Wis=4t—1t?+ 10 TR 4 1. I3 T F© A7
(@) —8m/ sec? (b) 8m/ sec? (c) 2m/ sec? (d) —2m/ sec?
TR (d); s =4t~ 12+ 10=>v= FT=4-2tma= == —2ms~2

B ETE |




88. x = at?,y = 2at *JRICILT T [RoMis Awtasie g3i-

(a) 3@ (b) wfkga (c) *RIgS (d) Bos
HLIRICE (G):t=:—a: x=a.£:>y1=4ax—pqmgg

89. fo=ib 35 P, V3P, P S IREI ARt &9 WRIT TR NHIRS! (piel-
(a) 60° (b) 90° (c) 120° (d) 150°

pP=p*+ (ﬁp)z + 2p.V/3p cosa = 2v3cosa = —3=cosa = —%:HJ. = 150°

90. cotcos™ !sintan™!

=?

| W

(a)3 (b) 1 (c) 3/4 (d) 2

YA (C); cotcos™? sintan™1x = x

91. Select the pair that best express the relationship. [Ans: a]
(a) animosity-hostility (b) dilemma-peaceful  (c) obstacle-progress  (d) diligent-lazy

92. Put the right form of verb: Jerry let the boys s skates. [Ans: b]
(a) to use (b) use (c) used (d) would use

93. From the following which one is the synonym of “aesthetic”? [Ans: d]
(a) displease (b) ugly (c) bad-looking (d) artistic

94. Who, Which, What are__ [Ans: c]
(a) Demonstrative pronoun (b) Reflexible pronoun
(c) Relative pronoun (d) Indefinite pronoun

95. Translate the sentence into English. Sifs s 9= e oy w1 T Pz’ | [Ans: c]
(a) I am finished (b) I have done a wrong decision
(c) I am done for my wrong decision (d) Wrong decision finished me.

06. What is the correct tag of the sentence, Let us go to picnic, "7 [Ans: c]
(a) do we? (b) don't we? (c) shall we? (d) shan't we?

97. What does acquisition signify? [Ans: a]
(a) implicit learning (b) explicit learning (c) exact leaming (d) none of these

98. The programme was telecast live. What parts of speech is 'live'? [Ans: d]
(a) Noun (b) Verb (c) Adjective (d) Adverb

99, The Antonym Of 'Transient' is- [Ans: c]
(a) Transitory (b) Evanescent (¢) Permanent (d) Lucid

100. Bangladesh is ___ in the active earth quake zone. [Ans: b]
(a) lies (b) lying (c) lieing (d) lied
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